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Before beginning, we need a quick refresher on “Simple Interest™.
The Formula for Simple Interest s given by: | = ™| where Iis the amount of interest
earned, P iz the “Prncipal” (or the amount getting meerest), # is the interest rate and f1s
the amount of fime intersst 1z caleunlated.

e.g.  Youdeposit $430 into an account paying 4% peryear for 3.5 years How much
mterest do you earn?

Example 7.1.1 (How an annuity works)
From your text: Pg. 413 #1b)
Complete the table. What iz the amount of the annuity? How much interest was earned?

$100 deposited at the end of each month at 6% per year
compounded monthly

The Simple Ordinary Annuity Formula
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* 11z the interest rate Per Compounding Period
e.g. If voudepostt in an account which pays mterest af a rate of
"~ 12% PERYEAR, but is COMPOUNDED MONTHLY, then
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Example 7.1.1 (How an annuity works)

/e/ From your text: Pg. 415 #1b)
/ ’? @S ')L mplete the table. What is the amount of the annuity? How much interest was earned?

oA M |
O O $100 deposited at the end of each month at 6% per vear

compounded monthly

} 9\ Month Starting Interest Deposit Ending
_— balance earned balance
— 0. OO 5 1 $0.00 $0.00 $100.00 $100.00

N A S 2 $100.00 z $0.50 $100.00 ;EDD'@D
3 -0 0 $100.00 PO -
{OD X Q-_ O =0 N[ K7 $100.00 403®’
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The Simple Ordinary Annuity Formula

R[(1+7Y—1]

!

Where:

A is the final amount of the annuity (what you will have in the bank)
R 1s the regular payment you make to the account

i 1s the interest rate Per Compounding Period

e.g. I[f you deposit in an account which pays interest at a rate of

12% PER YEAR, but is COMPOUNDED MONTHLY, then

COMPOUNDED QUARTERLY

COMPOUNDED SEMI-ANNUALLY
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Example 7.1.2
Aidricames, at age 20, wants to begin saving money and decides to begin depositing $200
per year into an account which pays interest at 3.25% annually. How much money will

1jcumulate in the account after 45 years? =~ ——— _ Q 01
A= R |+ Qf\,ﬂ 5—— 0 03dS
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Example 7.1.3
Rackaygan, at age 40, begins saving money by depositing $400 per year into an account
which pays interest at 3.25% annually. How much money will be in the account after 20
years?
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Example 7.1.3

Rackaygan, at age 40, begins saving money by depositing $400 per year into an acco

unt
which pays interest at 3.25% annually. How much money will be in the account aﬁerZﬂé\ S"
years?
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Willregios deposits $100 every month into an account which pays 3%, compounded

monthly, for 30 years. Determine the amount of the annuity. Determine the amount of

interest earned.
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Example 7.1.4

Willregios deposits $100 every month into an account which pays 3%, compounded
monthly, for 30 years. Determine the amount of the annuity. Determine the amount of

interest camed. N
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: Example 7.1.4

— Willregios deposits $100 every month into an account which pays 3%, compounded

: monthly, for 30 years. Determine the amount of the annuity. Determine the amount of
h interest eamed_h R — 35’“0

D oA=RIT+ -0 * 047
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Example 7.1.5 n ;'8

_ )V Determine the amount of a simple ordinary annuity in which $350 is deposited every 3
: months, for 7 years, into an account paying interest at a rate of 4.7% compounded

A— ( gqlgﬂg?(e(te\nfmgﬂr‘m;aaa% 7?“71 d on the accaun; 3 3 8
2»(3 /{S&Sﬁ/ﬁt 67\:800 ]
l\ ﬂ“

L] 0000
W ok FTn 72 B et

| e

=

| 435 words, 2510 characters | Default Style | English (Canada) | | wmp | G| | | oo | - O + | 162%

S lelels Blx e e




